Pressure [hPa]

(@) 2019-11-12 11:01 UTC

"
100 i
Tsounding \%
- Td,sounding
TMorro
200 i Tt Td,Morro
Twmy,
........ Td,MYO
300 - hfs
-
400 -
—]
500- =
- N
7001 =
800 - N
900 x X
].OOO T 1 1 1 1 I 4
-40 -30 -20 -10 0 ¥

T, Tq [°Cl]

Pressure [hPa]

2019-11-1217:11 UTC

Tsounding
Td, sounding
TMorro

\ _——

Td, Morrg
Ty,

—
~==
~,

S
=

100 /2019-11-12 13:59 UTC R‘\‘ 100
Tsounding
- Td,sounding g
TMorro
200- "= Ta.vor, — 200+
Twmy, ¥
........ T4, My, 5
300 - ©  300-
3 7
400 - \ ] » 400-
— &
500 - =1 & 500-
600- N 600 -
700 - \\% 700 -
800 - N 800 -
900 - NG 900 -
1000 ] T T T T 5 1000
-40 -30 -20 -10 O 0
T, Tq [ C]

20 -10 O
T, Tq [°Cl]

_40 =30




